			Procuremen	t Type					Ca	rdiology Dispos	able Items				T
		Si	ub Procurem							rdiology Dispos					
tem	Specs	Quantity	Estimated Unit Price	Total estimated price	Bid Security 2%	Winer Firm Name	Other Firm(s)	Quoted Rate/ Offered PKRs.	Brand Name/Specification Manufacturer, Country of origin	Tech. Status	No of Bids	Pack Size	Lowest Bid Cost	Final Bid Status	Discriptio
	a) USA FDA Approved 2nd generation Drug Eluting Stents, all diameters and lengths (NICB-1.ii)	1500	47500	71250000	1425000	h				No Offer				No Offer	No Offer
oronary	b) Budget Stents (NICB I-iii)	1500	30000	45000000	900000	M/s Medtronic Pakistan (pvt) Limited		46,000	Resolute Integrity Diameter. 2.25,2.5,2.75 Length.8,12,14,18,22,26,30 Diameter. 3.00,3.50,4.0,4.5 Length.9,12,15,18,22,26,30,34,38 P.C RXINTXXXX Medtronic Galway, Ireland	Responsive	1	lxl	69,000,000	Responsive	Responsiv
	 c) COVERED Stent, only single layer and/or double layer of metallic frame, latest version, FDA approved. 6F compatible. 	3	150000	450000	9000					No Offer			-	No Offer	No Offer
	SC balloons, Rapid Exchange, FDA approved, latest version, all lengths and diameters.	1500	8000	12000000	240000	M/s Medtronic Pakistan (pvt) Limited		10,400	Sprinter Legend Diameter, 1.75,2.0 Length.6,8,10,12,15 P.C P6107/917 Medtronic Mexico	Responsive	2	1x1	15,600,000	Responsive	Responsive
							M/s Global Marketing Services	19,712	Neon all sizes Kaneka Japan	Responsive		1 piece	-	Responsive	Responsive
	b) CTO PCI balloons, Diameter 1.0mm to 1.5 mm, all lengths	50	10000	500000	10000	M/s Global Marketing Services		19,712	Neon BS 10006, BS10008,BS12006,BS12008 Kaneka Japan	Responsive	2	1 piece	985,600	Responsive	Responsive
PCI						M/s Alliance Medical		23,900	Genoss Ltd Korea Size 1.25 mm to 1.50 mm	Responsive			•		
lloons	c) CTO PCI balloons, Diameter <1.0 mm, all lengths.(Saphire II Pro 0.8mm Diameter or equivalent)	25	15000	375000	7500					No Offer			-	No Offer	No Offer
	d) NC balloons, Rapid Exchange, FDA approved, latest version, all lengths and diameters.	2000	8500	17000000	340000	M/s Medtronic Pakistan (pvt) Limited		10,000	NC Euphora Diameter. 2.0/4.0 Length.6,8,12,15,20,27 P.C P6109/919 Medtronic Mexico	Responsive	2	lxl	20,000,000	Responsive	Responsive
	dianetri		-				M/s Global Marketing Services	19,712	Neon NC all sizes Kaneka Japan	Responsive		1 piece	- 4.	Responsive	Responsive
	e)Over the Wire Ballonns, Coronary , CE Marked/ FDA approved , diamter 1.0-1.5mm	25	15000	375000	7500			, ,	n pr	No Offer	/	1.0		No Offer	No Offer

0

B

Munny 7

M

Mala

A

Г.Е. #.	Item	Specs f) Drug Eluting Balloons, CE Marked/FDA	Quantity	Estimated Unit Price	Total estimated price	Bid Security 2%	Winer Firm Name	Other Firm(s)	Quoted Rate/ Offered PKRs.	Brand Name/Specification Manufacturer, Country of origin	Tech. Status	No of Bids	Pack Size	Lowest Bid Cost	Final Bid Status	Discription
		Approved Approved	50	55000	2750000	55000					No Offer				No Offer	No Offi
3	3. Guide Catheters	PCI guide Catheters, 5F, 6F, 7F, all shapes and lengths (Short, Standard and Long Length)	2000	5000	10000000	200000	M/s Medtronic Pakistan (pvt) Limited		8,800	Launcher/ 5F,6F,7F,8F All Sizes P.C LAXXXXX USA Medtronic	Responsive	2	1x1	17,600,000	Responsive	Respons
								M/s Global Marketing Services	15,725	Vista Brite All Sizes Cordis, USA	Responsive		1 piece	-	Responsive	Respon
		Left coronary catheters, all sizes, 4F.	3000				M/s Global Marketing Services		3,600	Infinti 4F,5F,6F Cordis, USA	Responsive		5 pcs	10,800,000	Responsive	Respon
		5F, 6F, FDA approved.	3000	1350	4050000	81000		M/s Medtronic Pakistan (pvt) Limited	6,000	Femoral Dxterity Diagnostic Catheter 5F and 6F PC. DXT6XXX USA Medtronic	Responsive	2	1x5	-	Responsive	Respon
		b) Right coronary catheters, all sizes, 4F,					M/s Global Marketing Services		3,600	Infinti 4F,5F,6F Cordis, USA	Responsive		5 pcs	10,800,000	Responsive	Respon
4	Diagnostic Catheters	5F, 6F, FDA approved.	3000	1350	4050000	81000		M/s Medtronic Pakistan (pvt) Limited	6,000	Femoral Dxterity Diagnostic Catheter 5F and 6F PC. DXT6XXX USA Medtronic	Responsive	2	lx5		Responsive	Respon
		c) LIMA and other Cathters	100	1350	135000	2700	M/s Global Marketing Services		3,600	Infinti all sizes Cordis, USA	Responsive	1	5 pcs	360,000	Responsive	Respon
							M/s Global Marketing Services		3,600	Infinti all sizes Cordis, USA	Responsive		5 pcs	540,000	Responsive	Respon
		d) Pigtail Catheters.	150	1350	202500	4050		M/s Medtronic Pakistan (pvt) Limited	6,000	Femoral Dxterity Diagnostic Chatheter 5F and 6F Right Comory PC. DXT6XXX USA Medtronic	Responsive	2	lx5		Responsive	Respon
		000000000000000000000000000000000000000		100			M/s Alliance Medical		1,279	Shunmei Medical China 0.035",0.038"x150cm	Responsive			2,558,000	Responsive	Respo
		a) 0.038' Standard length 150-180cm fixed core guide wire J-tip	2000	500	1000000	20000		M/s Global Marketing Services	2,912	Emarled Size 0.035x150 and 0.028x150 cm Cordis USA	Responsive	2	5 pcs		Responsive	Respon

be Miner of the series of

T.E. #.	Item	Specs	Quantity	Estimated Unit Price	Total estimated price	Bid Security 2%	Winer Firm Name	Other Firm(s)	Quoted Rate/ Offered PKRs.	Brand Name/Specification Manufacturer, Country of origin	Tech. Status	No of Bids	Pack Size	Lowest Bid Cost	Final Bid Status	Discription
5	5. Guide wire	b) 0.038'/0.035' Taflon Coated Exchange					M/s Alliance Medical		2,019	Shunmei Medical China 0.035"x260cm	Responsive			4,038,000	Responsive	Responsive
		length guide wire J-tip.	2000	800	1600000	32000		M/s Global Marketing Services	4,704	Emarled Size 0.035x260 and 0.038x260 cm Cordis USA	Responsive	2	5 pcs		Responsive	Responsive
		c) .0.35" hydrophilic torque able guide wire, Exchange Length (Glide wire, Magic torque or Equivalent)	25	2500	62500	1250					No Offer			-	No Offer	No Offer
		a) Hydrophilic Intermediate Type, Moderate Support Straight Tip, 0.014"×175- 195cm, FDA Approved (BMW/Rinato or Equivalent)	2000	8000	16000000	320000					No Offer				No Offer	No Offer
		b) Hydrophilic Intermediate Type, Moderate Support Straight Tip, Exchange Length FDA Approved (BMW or Equivalent)	200	8000	1600000	32000					No Offer				No Offer	No Offer
		c) Hydrophilic, Floppy Type Soft Straight Tip, 0.014"×175-195cm, FDA Approved (Choice Floppy or Equivalent)	500	8000	4000000	80000					No Offer				No Offer	No Offer
		d) Hydrophilic, polymer coated, intermediate type, Highest Support Straight Tip. 0.014"×175-195cm, FDA Approved (Whisper or Equivalent)	500	9000	4500000	90000					No Offer				No Offer	No Offer
		e) Hydrophilic Tough Crossing Type, Highest Tip Load Straight Tip, 0.014*×175- 195cm, FDA Approved (Cross It or Equivalent)	50	9000	450000	9000					No Offer				No Offer	No Offer
		f) Hydrophilic, Higher Support, Straight Tip, 0.014"×175-195cm, FDA Approved (Pilot or Equivalent)	150	9000	1350000	27000					No Offer				No Offer	No Offer
		g) Hydrophilic, Extra Support Type, Straight Tip, 0.014"×175-195cm, FDA Approved (Grand Slam or Equivalent)	25	9000	225000	4500					No Offer				No Offer	No Offer

by Mill I Al was by the

6. PCl Wires	Specs	Quantity	Estimated Unit Price	Total estimated price	Bid Security 2%	Winer Firm Name	Other Firm(s)	Quoted Rate/ Offered PKRs.	Brand Name/Specification Manufacturer, Country of origin	Tech. Status	No of Bids	Pack Size	Lowest Bid Cost	Final Bid Status	Discription
	h) Steel Core, Polymer covered tapered Tip with Tip Load <1g. Core to Tip Design, Hydrophilic, Moderate Support PTCA guide wire. (Fielder XT or Equivalent)	100	15000	1500000	30000					No Offer			-	No Offer	No Offer
	i) Steel Core, Spring Coil tapered Tip with Tip Load >10g. Core to Tip Design, Hydrophilic PTCA guide wire. (Confianza Pro-12 or Progress 200 or Equivalent)	10	18000	180000	3600					No Offer			-	No Offer	No Offer
	j) Stainless Steel Hydrophilic Guide wire for externalization, usable length >300cm PTCA guide wire (RG-3 or Equivalent)	15	20000	300000	6000					No Offer				No Offer	No Offer
	k) Steel Core, Dual Tip Spring with Tip Load ,< lg. Core to Core Tip, Hydrophilic PTCA Guidewire. (Sion blue or Equivalent)	50	18000	900000	18000					No Offer				No Offer	No Offer
	i)Steel Core,Dual Tip Spring with Tip Load .<1g, Core to Core Tip, Polymer Coated Hydrophilic Guidewire.(Sion black or Equivalent)	50	18000	900000	18000					No Offer			-	No Offer	No Offer
	m) Steel Core, Spring Coil Tip with Tip Load <1g, Core to Tip Design, Hydrophilic PTCA GUIDEWIRE (Sion or Equivalent)	50	13000	650000	13000	*				No Offer			-	No Offer	No Offer
	n) PTCA wire Extension (Dock Wire)	10	14500	145000	2900				,	No Offer			-	No Offer	No Offer
	Radial Arterial Sheath with side arm and homeostasis valve complete with taper tip yessel dileter, min mide wire and					M/s Global Marketing Services		4,100	Avanti size 4F,5F,6F Cordis USA	Responsive	- 1	5 pcs	8,200,000	Responsive	Responsive
	puncture needle 4F, 5F, 6F, FDA Approved, CE Marked notified by European Union Directive: 93/42/EEC Medical Devices/MHNW/JIS Approved	2000	969	1938000	38760	1-1-1	M/s Alliance Medical			Non- Responsive	2		-	Non- Responsive	Non- Responsive
		6. PCI Wires h) Steel Core, Polymer covered tapered Tip with Tip Load <1g. Core to Tip Design, Hydrophilic, Moderate Support PTCA guide wire. (Fielder XT or Equivalent) i) Steel Core, Spring Coil tapered Tip with Tip Load >10g. Core to Tip Design, Hydrophilic PTCA guide wire. (Confianza Pro-12 or Progress 200 or Equivalent) j) Stainless Steel Hydrophilic Guide wire for externalization, usable length >300cm PTCA guide wire (RG-3 or Equivalent) k) Steel Core, Dual Tip Spring with Tip Load <1g. Core to Core Tip, Hydrophilic PTCA Guidewire. (Sion blue or Equivalent) i)Steel Core, Dual Tip Spring with Tip Load <1g. Core to Core Tip, Polymer Coated Hydrophilic Guidewire. (Sion black or Equivalent) m) Steel Core, Spring Coil Tip with Tip Load <1g. Core to Tip Design, Hydrophilic PTCA GUIDEWIRE (Sion or Equivalent) n) PTCA wire Extension (Dock Wire) a) Radial Arterial Sheath with side arm and homeostasis valve complete with taper tip vessel dilator, mini guide wire and puncture needle 4F, 5F, 6F, FDA Approved, CE Marked notified by European Union Directive. 93/42/EEC Medical	6. PCI Wires h) Steel Core, Polymer covered tapered Tip with Tip Load <1g. Core to Tip Design, Hydrophilic, Moderate Support PTCA guide wire. (Fielder XT or Equivalent) i) Steel Core, Spring Coil tapered Tip with Tip Load >10g. Core to Tip Design, Hydrophilic PTCA guide wire. (Confianza Pro-12 or Progress 200 or Equivalent) j) Stainless Steel Hydrophilic Guide wire for externalization, usable length >300cm PTCA guide wire (RG-3 or Equivalent) k) Steel Core, Dual Tip Spring with Tip Load <1g. Core to Core Tip, Hydrophilic PTCA Guidewire. (Sion blue or Equivalent) i)Steel Core, Dual Tip Spring with Tip Load <1g. Core to Core Tip, Polymer Coated Hydrophilic Guidewire. (Sion black or Equivalent) m) Steel Core, Spring Coil Tip with Tip Load <1g. Core to Tip Design, Hydrophilic PTCA GUIDEWIRE (Sion or Equivalent) n) PTCA wire Extension (Dock Wire) 10 a) Radial Arterial Sheath with side arm and homeostasis valve complete with taper tip vessel dilator, mini guide wire and puncture needle 4F, 5F, 6F, FDA Approved, CE Marked notified by European Union Directive. 93/42/EEC Medical	6. PCI Wires h) Steel Core, Polymer covered tapered Tip with Tip Load <1g. Core to Tip Design, Hydrophilic, Moderate Support PTCA guide wire. (Fielder XT or Equivalent) i) Steel Core, Spring Coil tapered Tip with Tip Load >10g. Core to Tip Design, Hydrophilic PTCA guide wire. (Confianza Pro-12 or Progress 200 or Equivalent) j) Stainless Steel Hydrophilic Guide wire for externalization, usable length >300cm PTCA guide wire (RG-3 or Equivalent) k) Steel Core, Dual Tip Spring with Tip Load <1g. Core to Core Tip, Hydrophilic PTCA Guidewire. (Sion blue or Equivalent) i)Steel Core, Dual Tip Spring with Tip Load <1g. Core to Core Tip, Polymer Coated Hydrophilic Guidewire. (Sion black or Equivalent) m) Steel Core, Spring Coil Tip with Tip Load <1g. Core to Tip Design, Hydrophilic PTCA GUIDEWIRE (Sion or Equivalent) n) PTCA wire Extension (Dock Wire) 10 14500 a) Radial Arterial Sheath with side arm and homeostasis valve complete with taper tip vessel dilator, mini guide wire and puncture needle 4F, 5F, 6F, FDA Approved, CE Marked notified by European Union Directive: 93/42/EEC Medical	6. PCI Wires h) Steel Core, Polymer covered tapered Tip with Tip Load <1g. Core to Tip Design, Hydrophilic, Moderate Support PTCA guide wire (Fielder XT or Equivalent) i) Steel Core, Spring Coil tapered Tip with Tip Load <10g. Core to Tip Design, Hydrophilic PTCA guide wire (Confianza Pro-12 or Progress 200 or Equivalent) j) Stainless Steel Hydrophilic Guide wire for externalization, usable length >300cm PTCA guide wire (RG-3 or Equivalent) k) Steel Core, Dual Tip Spring with Tip Load <1g. Core to Core Tip, Hydrophilic PTCA Guidewire. (Sion blue or Equivalent) i)Steel Core Dual Tip Spring with Tip Load <1g. Core to Core Tip, Polymer Coated Hydrophilic Guidewire. (Sion black or Equivalent) i)Steel Core, Spring Coil Tip with Tip Load <1g. Core to Core Tip, Polymer Coated Hydrophilic Guidewire (Sion black or Equivalent) m) Steel Core, Spring Coil Tip with Tip Load <1g. Core to Tip Design, Hydrophilic PTCA GUIDEWIRE (Sion or Equivalent) a) Radial Arterial Sheath with side arm and homeostasis valve complete with taper tip vessel dilator, mini guide wire and puncture needle 4F, 5F, 6F, FDA Approved, CE Marked notified by European Union Directive. 93/42/EEC Medical	Second Core PCI Wires No. Steel Core, Polymer covered tapered Tip with Tip Load < 1g. Core to Tip Design, Hydrophilic, Moderate Support PTCA guide wire. (Fielder XT or Equivalent) 100	Speed Quantity Unit Price estimated price Security 2%	Security Security	Description PCI Wires No. Steel Core, Polymer covered tapered Trp with Trp Load = 1g. Core to Trp Design. Hydrophilic, Moderate Support PTCA guide wire (Fielder XT or Equivalent) 100	Steel Core. Polymer covered tapered Try with Try Load -1g. Core to Try Design. [Not private of Try With Try Load -1g. Core to Try Design. [Not private of Try With Try Load -1g. Core to Try Design. [Not private of Try With Try Load -1g. Core to Try Design. [Not private of Try With Try Load -1g. Core to Try Design. [Not private of Try With Try Load -1g. Core to Try Design. [Not private of Try With Try Load -1g. Core to Try Design. [Not private of Try With Try Load -1g. Core to Try Design. [Not private of Try With Try Load -1g. Core to Try Design. [Not private of Try With Try Load -1g. Core to Try Design. [Not private of Try With Try Load -1g. Core to Try Design. [Not private of Try With Try Load -1g. Core to Try Design. [Not private of Try With Try Load -1g. Core to Core Try, Polymer Coated (Not private of Try With Try Load -1g. Core to Try Design, [Not private of Try With Try Load -1g. Core to Try Design, [Not private of Try With Try Load -1g. Core to Try Design, [Not private of Try With Try Load -1g. Core to Try Design, [Not private of Try With Try Load -1g. Core to Try Design, [Not private of Try With Try Load -1g. Core to Try Design, [Not private of Try With Try Load -1g. Core to Try Design, [Not private of Try With Try Load -1g. Core to Try Design, [Not private of Try With Try Load -1g. Core to Try Design, [Not private of Try With Try Load -1g. Core to Try Design, [Not private of Try With Try Load -1g. Core to Try Design, [Not private of Try With Try Load -1g. Core to Try Design, [Not private of Try With Try Load -1g. Core to Try Design, [Not private of Try With Try Load -1g. Core to Try Design, [Not private of Try With Try Load -1g. Core to Try Design, [Not private of Try With Try Load -1g. Core to Try Design, [Not private of Try With Try Load -1g. Core to Try Design, [Not private of Try With Try Load -1g. Core to Try Design, [Not private of Try With Try Load -1g. Cor	Decision Color C	No. No.	No. No.	No. No.	CTC Wise State Concess Con

he private of the

T.E. #.	Item				77			Page 5 of 8								
7	7. Sheaths	Specs	Quantity	Estimated Unit Price	Total estimated price	Bid Security 2%	Winer Firm Name	Other Firm(s)	Quoted Rate/ Offered PKRs.	Brand Name/Specification Manufacturer, Country of origin	Tech. Status	No of Bids	Pack Size	Lowest Bid Cost	Final Bid Status	Discription
		b) Femoral Arterial Sheaths with side arm and hemostasis valve complete with taper tip vessel dilator, mini guide wire and					M/s Global Marketing Services		3,600	Avanti size 4F,5F,6F Cordis USA	Responsive		5 pcs	7,200,000	Responsive	Responsive
		puncture needle 5F, 6F, 7F FDA Approved, CE Marked notified by European Union Directive: 93/42/EEC Medical Devices/MHNW/JIS Approved	2000	969	1938000	38760		M/s Alliance Medical			Non- Responsive	2			Non- Responsive	Non- Responsive
	4	a) Priority Pack consisting of inflation device, Y-Connector with rotating valve type bleed back control, PCI wire introducer, small length connecting/pressure line, torque device and 3-way stop cock	100	3789	378900	7578	M/s Alliance Medical		11,379	Genoss Ltd Korea 30atm	Responsive	1		1,137,900	Responsive	Responsive
8	8. Priority Pack	b) Priority Pack consisting of inflation device, Y-Connector with push spring type bleed back control, PCI wire introducer, small length connecting/pressure line, torque device and 3-way stop cock.	3000	3789	11367000	227340	M/s Alliance Medical		7,739	Shunmei Medical China 30atm	Responsive	1-		23,217,000	Responsive	Responsive
9	9. Manifolds	Manifold, 2 valves with rotating adaptors, ports on right side. FDA Approved/CE Marked notified by European Union Directive: 93/42/EEC Medical Devices/MHNW/JIS Approved	4000	565	2260000	45200					No Offer				No Offer	No Offer
10	10. Pressure line	Pressure Line, Transparent (Hard), female Luer lock to male Luer lock 50cm long or more, FDA Approved, CE Marked notified by European Union Directive 93/42/EEC Medical Devices/MHNW/JIS Approved.	6000	89	534000	10680	M/s Alliance Medical	- N	169	Shunmei Medical China 120cm	Responsive	1		1,014,000	Responsive	Responsive

I be pulled of see of the

	1	T						Page 6 of 8								
T.E. #.	Item	Specs	Quantity	Estimated Unit Price	Total estimated price	Bid Security 2%	Winer Firm Name	Other Firm(s)	Quoted Rate/ Offered PKRs.	Brand Name/Specification Manufacturer, Country of origin	Tech. Status	No of Bids	Pack Size	Lowest Bid Cost	Final Bid Status	Discription
11	11. TPM with accessories	a) Temporary endocardial pacing leads, SFr, R, V curve (Josephson/ Cournad Curve) 100-110 cm long electrode spacing of 10mm with venous access sheath with side arm fixed with three way stop cock and hemostatic valve, mini guidewire, puncture needle and dilator.	500	4500	2250000	45000	M/s Alliance Medical		21,169	Dispomedica & Shumei Medical Germany & china 5FR,6FR	Responsive	1		10,584,500	Responsive	
=	12. PPM with	 a) Single chamber, FDA approved, not more than 5 years old from date of FDA approval, with MRI compatible leads 	25	135000	3375000	67500	M/s Medtronic Pakistan (pvt) Limited		280,000	Sphera SPSR01/IPG SPHERA SR MRI SURESCAN Medtronic Singapure / Switzerland	Responsive	2	1	7,000,000	Responsive	Responsiv
12	accessories							M/s Global Marketing Services			Non- Responsive				Non- Responsive	Non- Responsiv
		b) Dual chamber, FDA approved, not more than 5 years old from date of FDA approval, with MRI compatible leads	35	190000	6650000	133000	M/s Medtronic Pakistan (pvt) Limited				Responsive				Contract Aw Central F	
		a) Brokenbrough catheter for adults	15	25000	375000	7500					No Offer				No Offer	No Offer
13	13. PTMC Equipment	b) Septal puncture needle	15	25000	375000	7500					No Offer				No Offer	No Offer
		c) Balloon Set	15	175000	2625000	52500					No Offer				No Offer	No Offer
14	14. ACT Cartridges	Actalyke C-ACT Catridges for Actalyke XL machine	3000	400	1200000	24000					No Offer			-	No Offer	No Offer
15	15. Rota Wire	Rota Wire	20	15000	300000	6000					No Offer			· · · · · · · · · · · · · · · · · · ·	No Offer	No Offer
16	16. Rota Burr	Rota Burr/Rota Link Plus	20	75000	1500000	30000					No Offer			-	No Offer	No Offer
17	17. Clot	Thrombus/ Catheter Thrombus/Clot	75	20000	1500000	30000	M/s Medtronic Pakistan (pvt) Limited		47,000	Advance Export USA Medtronic P.C ADVANCECE	1X5	2	Responsive	3,525,000	Responsive	Responsive
•	Extraction	Extraction Catheter						M/s Alliance Medical	47,479	Genoss Ltd Korea 6FR,to 8FR			Responsive	-	Responsive	Responsiv
-		Standard Micro Catheters for PCI. All lengths	30	50000	1500000	30000					No Offer			-1 ==	No Offer	No Offer
	10.15	b) Low Profile Micro Catheters for PCI. Finecross or Equivalent	15	65000	975000	19500		- I] A		No Offer				No Offer	No Offer
18	18. Micro Catheters	c) Dual Access Micro Catheters for PCI All lengths.	5	80000	400000	8000					No Offer	-		-	No Offer	No Offer

(h)





See







	1							Page 7 of 8								
T.E. #.	Item	Specs	Quantity	Estimated Unit Price	estimated	Bid Security	Winer Firm Name		0							
	÷.	d) Angled Tip Micro Catheters for PCI. All lengths	5		price	2%	Willer Firm Name	Other Firm(s)	Quoted Rate/ Offered PKRs.	Brand Name/Specification Manufacturer, Country of origin	Tech. Status	No of Bids	Pack Size	Lowest Bid Cost	Final Bid	Disantari
	19. Guide		3	85000	425000	8500				or origin		Dias			Status	Discription
19	Extension Catethers	Guide Extension Catheters. FDA Approved	20	80000	1600000	32000					No Offer			-	No Offer	No Offer
20	20. Snare Catheters for				100000	32000			<u> </u>		No Offer			-	No Offer	No Offer
20	Coronary Arteris	Multiloop (Atreive or equivalent)	20	20000	400000	8000					No Offer					
	21 Distal Embolism			-							No Offer				No Offer	No Offer
21	Protection Device	Filterwire EZ or Equivalent	5	50000	250000	5000					No Offer			_	No Offer	No Offer
	22. Femoral															No one
22	device for hemostasis	a) Arterial stitch based (Perclose or Equivalent)	30	25000	750000	15000			E F		No Offer				No Offer	No Offer
23	23. Angioplasty Drape Set	Angioplasty Drape Set	50	4200	210000	4200					No Offer			_	No Offer	No Offer
24	24.Injector Syringes	100CC Injector Syringes For Aortogram/ LV angiogram	25	3500	87500	1750					No Offer			_	No Offer	No Offer
25	25.TAVR Valve	Transcatheter Prosthetic Aortic Valve (Evolute-R OR Equivalent	10	200000	2000000	40000	M/s Medtronic Pakistan (pvt) Limited		3,450,000	Core Valve Evolut R Self Expending Transcatheter Aortic Valve (23,26,29,34,)mm All Sizes USA EnVeo R Delivery Catheter (L N) Medtronic Ireland EnVeo R Loading System (23,26,29,34) Medtronic Ireland	Responsive	1	each	34,500,000	Responsive	Responsive
26	26 Stiff Wire	Amplatz Super Stiff Wire or equivalent	20	25000	500000	10000	M/s Global Marketing Services		12,500	Emarled Super Stiff all sizes Cordis USA	Responsive	1	5pcs	250,000	Responsive	Responsive
27	27 Support Wire	Confida/ Safari Wire or equvalent	20	22000	440000	8800	M/s Medtronic Pakistan (pvt) Limited		35,000	Confida Guide Wire Medtronic Ireland	Responsive	1	1x5	700,000	Responsive	Responsive
28	28. High Pressure Line	High Pressure Line	50	500	25000	500					No Offer		MS.qu		No Offer	No Offer
								1								

I be mind of see of by the

T.E. #.	Item	Specs	Quantity	Estimated Unit Price	Total estimated price	Bid Security 2%	Winer Firm Name	Other Firm(s)	Quoted Rate/ Offered PKRs.	Brand Name/Specification Manufacturer, Country of origin	Tech. Status	No of Bids	Pack Size	Lowest Bid Cost	Final Bid Status	Discription
29	29. Large Bone	Femoral Sheath 10F	15	1500	22500	450					No Offer	-				
29	Femoral Sheaths	Femoral Sheath 14F	15	1500	22500	450				•	No Offer			-	No Offer	No Offer
30	30.IABP Catheter	Intra-Aortic Balloon Pump Catheter, all sizes	25	100000	2500000	50000					No Offer			_	No Offer	No Offer
31	31. CDR	CDR	6000	100	(00000	10000										
32	32 DVD	DVD		100	600000	12000					No Offer				No Offer	No Offer
			600	150	90000	1800					No Offer				No Offer	No Offer
											Total Ame	ount		249610000		
		Firm Name		Sta	itus											
		M/s Hope Pharma	All Quoted	items are no	n-responsive	1										+
		M/s Acto Pharma	All Quoted	items are no	n-responsive			-							Δ	+
			1						1	,					n	1

Drug Controller, MHL (Secretary)

Dr. Sohal Nia Asst. Prof. Ortho Emergency, KEMU / MHL (Member)

Mr. Kashif Haroon Director Finance, MHL

(Member)

PMO/AMS (R&W), MHL (Member)

Dr. Hashaam Khalid

Dr. Qazi Mumtaz Ahmad

Assistant Prof. of Pediatric Medicine Unit-(Member)

Medical Officer MHL (Member)

Prof. Dr. Muhammad Imran
Chairman Department of Medicine KEMU/ Mula
(Chairman)

AS
PORT
PORT

Chairman Department of Medicine KEMU/ Mula

Chairman Departm